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Lesson 35

Home room TEACHER:

Perfect and Major Intervals e s

The interval between the keynote of a major scale and the unison, 4th, 5th or octave
of that scale is called a PERFECT INTERVAL. :
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The interval between the keynote of a major scale and the 2nd, 3rd, 6th or 7th
of that scale is called a MAJOR INTERVAL.
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THE DIATONIC INTERVALS OF THE MAJOR SCALE
When the keynote and the upper note of an interval are from the same major scale, it is called a
DIATONIC INTERVAL. All diatonic intervals in the major scale are either perfect (P) or major (M).

. The perfect intervals are the unison, 4th, 5th and octave; the major intervals are the 2nd, 3rd, 6th

| and 7th. This is true for all major scales. P1 indicates a perfect unison; P8 indicates a perfect octave.

fa
# o O
1= — O =
A\NY Py O g
PY) 200 o © o o o > o
P1 M2 M3 P4 P5 M6 M7 P8
Unison . Octave
Exercises
N o)
Name the harmonic D — o (0] -
intervals and indicate {&)}-S - — P=0) = Py o
whether they are P3) P=v=Y ©
perfect or major. M3
H Write the note above 6} (9) (0]
the given note to Z O O O
complete the O O O
harmonic interval. - P5 'pg M3 M7 M6 P4 M2 P1





image2.jpg
CU U EER LR A U U U U U U L VRS SR PR UV CER LN TR I T2\ |

y
J @ @ e @ @ e W @ o @ @ s a4 4 e

@ e

Minor Interwvals s

How major intervals may be changed to minor intervals:

When the interval between the two notes of a major interval (2nd, 3rd, 6th or 7th) is decreased by a half step,
they become MINOR INTERVALS. For example, a major 3rd (M3) becomes a minor 3rd (m3) when decreased
by a half step. A small letter “m” is used to signify a minor interval. Only major intervals may be made into
minor intervals—perfect intervals may not.
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Lesson 37

Augmented and Diminished Intfervals s

The word augmented means “made larger.” When a perfect or major interval is made larger
by a half step, it becomes an AUGMENTED INTERVAL. For example, a perfect 5th (P5) becomes
an augmented 5th (aug 5). To raise a sharp note by a half step, use a DOUBLE SHARP .
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The word diminished means “made smaller.” With the exception of the perfect unison, any perfect or
| minor interval that is made smaller by a half step becomes a DIMINISHED INTERVAL. For example, a perfect
4th (P4) becomes a diminished 4th (dim 4). To lower a flat note by a half step, use a DOUBLE FLAT b .
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Since lowering either note of a perfect unison would actually increase its size,
the perfect unison cannot be diminished, only augmented.

When the keynote and the upper note of an interval are not from the same major scale,
it is called a CHROMATIC INTERVAL. Minor, diminished, and augmented intervals are always
chromatic intervals in major keys.
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